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General Instructions to the Candidate :

This Question Paper consists of 38 objective and subjective types of

questions.

This question paper has been sealed by reverse jacket. You have to cut on
the right side to open the paper at the time of commencement of the

examination. Check whether all the pages of the question paper are intact.

Follow the instructions given against both the objective and subjective

types of questions.

Figures in the right hand margin indicate maximum marks for the

questions.

The maximum time to answer the paper is given at the top of the question

paper. It includes 15 minutes for reading the question paper.
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Four choices are given for each of the following questions /

answer and write the complete answer along with its letter of alphabet.

The war that ended with the treaty of Salbai was

(A) Second Anglo-Maratha War

(B) Second Anglo-Sikh War

(C) First Anglo-Maratha War

(D) First Anglo-Mysore War.

In 1938, The President of Haripur Congress Session was

(A) Sardar Vallabhbhai Patel

(B) Dr. B. R. Ambedkar

(C) Bal Gangadhar Tilak

(D) Subhash Chandra Bose.

The main objective of the French Revolution of 1789 was the

(A) establishment of U.N.O

(B) protection of Human Rights

(C) prevention of Foreign Invasion

(D) establishment of League of Nations.
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incomplete

statements. Only one of them is correct or most appropriate. Choose the correct
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Narmada Bachao Andolan was led by

(A) Medha Patekar

(B) Dr. Shivaram Karanth

(C) Kusuma Soraba

(D) Sundarlal Bahuguna.

The telephone number of child helpline is

(A) 1098 (B) 1090
(C) 1089 (D) 1097.
The correct pair among the following is

(A) Andhis — West Bengal

(B) Kalbaisakhi — Punjab

(C) Mango shower — Tamil Nadu

(D) Coffee Blossom — Karnataka.

Human Development Index of India in 2014 was
(A) 0-586 (B) 0-344
(C) 0-562 (D) 0-856.
The Father of the White Revolution is

(A) Dr. Pratap Reddy

(B) Narayana Murthy

(C) Varghese Kurien

(D) Azim Premji.
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Answer the following questions in a sentence each : 8x1=8

9. Hyderabad Province had to keep a British contingent in its province after
1798. Why ?

10. Why was Ramakrishna Mission ( Muth ) founded ?

11. What is the main objective of Food and Agricultural Organisation (FAO) ?

12. Why was a protest organised against Kaiga Nuclear Power Plant ?

13. How is Laterite soil formed ?

14. Define Density of Population.

15. How is per capita Income of a country calculated ?

16. Why is March 15th of every year observed as World Consumer Rights Day ?

Answer the following questions in four points each : 8x2=16

17. What factors made the Europeans to discover a new sea route to India ?

18. Refugees have become a huge problem since the partition of India.
Substantiate.

19. Many issues have influenced our changing foreign policy. How ?

OR

Why is Security Council considered as the Cabinet of UNO ?
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20. Child trafficking affects the holistic development of children. How ?
OR
Division of Labour is more useful. How ?
21. How are the Eastern Coastal plains different from Western Coastal plains of
India ?
22. Classify the following wunder personal communication and Mass
Communication and then write them :
Post ( letter ), Television, Fax, Radio
23. The goals of Public Expenditure lead to an all-round development of the
country. Substantiate.
24. Name the different types of Bank Accounts.
IV. Answer the following questions in six sentences each : 9x3=27
25. British Revenue system affected Indian Agriculture. Substantiate.
26. Third and Fourth Anglo-Mysore wars reduced the strength of Tippu Sultan of
Mysore. Justify.
OR
The contribution of Annie Besant to Indian Culture and Politics is
unforgetable. Justify.
27. How did China develop during 20th Century ?
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28. India and Russia have cordial relationship. Explain.
29. In recent days, the problem of untouchability is declining. Justify.
30. The areas under forest are declining in recent years. Why ?
31. Majority of Iron and Steel Industries are located in Odisha and West Bengal
regions. Why ?
OR
Human activities caused floods and landslides. Justify.
32. Mention the key features of Panchayati Raj system.
OR
Mention the different stages of evolution of money.
33. How does Globalization help in the development of a country ?
OR
How does an Entrepreneur help in economic development of a country ?
V. Answer the following questions in about eight sentences each : 4x4=16

34. Explain the main programmes of Non-Co-operation Movement.

35.

Explain Political and Administrative reasons for 1857 revolt.

OR

Explain the age of Liberal Nationalism during Freedom movement.
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36. In recent days, situations are supporting women to achieve betterment.

How ?
37. What are the requirements essential to cultivate wheat and sugarcane ?
VI. 38. Draw an outline map of India and mark the following : 1+4=5
a) 82%0 East Longitude
b) River Narmada
c¢) Bhakra Nangal Project

d) Mumbai High.

Alternative Question for Blind Candidates only : (In lieu of Q. No. 38)

How are the multipurpose river valley projects useful ? S
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